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sinA sinB sinC

a2 =b2 +c2 —2bccos A
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2tan O

1- tan2 o
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) ) X =2Km+ o
sinx =sino —
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cos20 =

1- tan2(x

sin 200 = —2tanoc
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1+ tan20c
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cos(—0) = cosa
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sin(oxp)
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Arc tan X + Arc cotx =

bel
~—

[0}
N—

1
Arc tanx + Arc tan— =
X

—_
>
~—
[0
~

Arc sin( —x ) = —Arc sinx

Arc tan( —x ) = —Arc tanx

s Gllie (g S0k Jlis ST

i 39 g Lok (o 0932 4

ATV ADA sy plo oo oSG0 31 Ladlgd  cwaigo oyl (wlicds )5 (6 480 wadgo

0w i1 sglils

I (60) E

www.riazisara.ir

f



Arc cos( —x ) = T—Arc cosx
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76) sin30 = 4sino sin( 60 —o ) - sin( 60 + ot ) i s Lo gas 0935 &
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